Part 1/ W I
Mathematics / Tifota

If a variable plane passes through a fixed
point (1, —2, 3) and meets the coordinate
axes at points A, B, C, then the point of
intersection of the planes through A, B, C
parallel to the coordinate planes lies on :

1 1
(1) =xy-— Jyz+ gzx=6

2)
(3)

yz—2zx+3xy=xyz
xy —2yz+3zx=3xyz

1 1

4) =xy+ Syz- gzx=6

The rate of change of the volume of a
sphere with respect to its surface area,
“when the radius is 2 units, is :

1 4
2) 3
@) 2

@ 1

If p is any logical statement, then :
(1)
(2)
(3)
)

pA(~p) is a tautology
pv(~p) is a contradiction
PAP=P

pv(~p)=p

P

(1.}
L

2,

Ifg T = ghae & fer fog (1, —2,3) @
Rt ST € A frdvia svell w1 faigeti A, B,
C W FEA 8, @A, B, C ¥ T W1 919,
frévi® oiell & wHiR guael &1 giassed
fog, e M fem d, s % :

1 1

1) xy—Syz+ gzx=6

(2)
®)

yz—2zx+3xy=xyz

xy —2yz +3zx =3xyz

1 1
(4) xy+ yYz= 5zx=6

TE M & YR OFFA & qriel THF
IMEE & UEdd #1 X, 5 SHH! e
ZW@%,%

1 4
2 3
3G) 2

4 1

e p TF Toh | FUA T, W@ -
1)
(2)
3)
4)

pA(~p) €1 | R
pv(~p) T& feife 21
pPAP=P

pv(~p)=p
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Consider

L,:3x+y+a—2=0;
L2:3x+y—a+3=0, where a is a positive
real number, and

C:x2+y2—2x+4y—4=0.

Statement 1 : If line L, is a chord of the
circle C, then the line L, is not always a
diameter of the circle C.

Statement 2 : If line L, is a diameter of the
circle C, then the line L, is not a chord of
the circle C.

Then,

(1) both the statements are true.

(2) both the statements are faise.

(3) Statement - 1 is true and
statement - 2 is false.
(4) Statement - 2 is true and

Statement - 1 is false.

If the system of linear equations,
x+3by+bz=0
x+4cy+cz=0 has a non - zero solution,
then a, b, c satisfy :

x+2ay+az=0, and

(1) 2b=a+c
(2) b’=ac
(3) 2ac=ab+bc

(4) 2ab=ac+bc

4;')Cﬁ1=mzﬁar£ﬁﬁrq:

L,:3x+y+a—-2=0;
L,:3x+y—a+3=0§ FufF o T ¥IH
qradfas SEA 8, a°

C: x2+y?>—2x+4y—4=0.

HAA1: AL, TWCH TH AN, AL, T
€ C 1 =AM & 8

HIT2  ARL, FRCH AR, ML, T C

1 e & 8!

1) o FE TE R

) < HUA A T

(3) FUA - 19, U - 2 I ¥

(4) O - 2 WA ¥, HUT - 1 A B

oz Yfaw s fwa
x+2ay+az=0, x+3by+bz=0 TUI

x+4cy+cz=0 H1 EH YEQ’FI’I 7@ €,
a,b,cﬁﬁgm%:

(1) 2b=a+c

(2) bP=ac

(3) 2ac=ab+bc

(4) 2ab=ac+bc
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Let S be the set of all real matrices,

a b

A=[ }such that a+d=2 and
c d

AT=A2-2A. ThenS:

(1) is an empty set.

(2) has exactly one element.

(3) has exactly two elements.

(4) has exactly four elements.

If z=i (i+ «/E), then the value of y

2 +423 46224 4z is
1) =5

@ 3

@) 6

@ -9

Suppose a population A has 100
observations 101, 102, ..., 200 and another
population B has 100 observations 151,
152, .., 250. If V, and Vj represent the
variances of two populations respectively,
then the ratio V, : Vyis :

S Wt AdfaE STeEl w1 gnwy 2

a b}
A=L dJ THl 2 f% a+d=2 qw
AT=A2-2A% @ s

(1) wwfEag=me)

2) H %I TH g T

(3) H Fad 2 I=Fa F)

@) T ¥F9d =W fFFq ¥

g z=i (i+ ﬁ)%, 24+ 423+ 6224 42
FHER

1) -5
2) 3
3) 6
4 -9

afe ©w wufe A ® 100 vam
101, 102, ..., 200 ¥ d= g&dt wufie B & 100
&0 151, 152, ..., 250 ¥1 Afe v, @ Vg
FAN: I gl F wwel # qwig € Q)
I V, i Vg R :

1 1:1 1 1:1
2 2:3 (2) 2:3
(3) 1:2 G) 1:2
@) 3:2 4 3:2
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13 15
+ 5
9. j ~ u 5 dx equals:
7 2
(x + x4+ 1)
14
1) X +C
7. .2, 1V
(7 + x*+ 1)
14
) a s+ C
2(x7+ x“+ 1)
7
3) L - +C
(x7+ 2+ 1)
7
4) —— s+ C
2(\f7+ x“+ 1)
10. 1f for some real number a,(.
lim sin 2x +qa Sin X exists, then the limit
x -0 X
is equal to :
1 -2
2y -1
@ 1
4 2

H13+5x

9/j j X Ty WEE:
x + 2+ 1
14
(1) X +C
(x7+ 2+ 1)2
14
) al +C
2(x7+ x2+ 1)2
@) — el s+ C
(x + 2+ 1)
(4) X +C

@‘L/aﬁ: fgE] areafas d®@al a & Ay

N,
sin2x +a sin x Wm%’_{ﬁ%

Hm

x—0 x3
AT SR R
1 -2

@ -1

Gy 1

@4 2
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11. Let A and B be two events such that | 11. AT A 791 B U6t &) st % % P(AUB) >3/4
P(AUB)=3/4 and 1/8 < P(AmnB)< 3/8. 41 1/8 < P(AnB)< 3/8 21
Statement 1:  P(A)+P(B) > 7/8 FAT1: P(A)+PB)= 7/8
Statement 2:  P(A)+P(B)< 11/8 ®q72: P(A)+P(B)< 11/8
(1) Statement - 1 is true ; Statement - 2 1) %91 - 1397 2 ; 972 99 &,
is true; Statement - 2 is a correct P - 2 HYT ~ 1 ST WE e B
explanation for Statement - 1.
(2) Statement - 1 is true ; Statement - 2 (2) Y - 199 8; FY - 2 9 ?;
is true; Statement - 2 is not a correct FIT - 2, FIT - 1 Ft I ey b
explanation for Statement - 1. 2
(3) Statement - 1 is true ; Statement - 2 (3) FU - 19§ Fu - 2 3w £
is false.
(4) Statement - 1 is false ; Statement - 2 (4) w9 -139F 8 FUYT - 29 21
is true.
- A A A hd A A e d A A A - A A
12. Letv=2i+j—kandw=i+3k. 12, ‘-'tT‘ITv=2i+j—k?I94Tw=i+3k
If uis a unit vector, then the maximam goak g TF " qfew & 9t sifew fre
value of the scalar triple product NI ,
o W[uvw}mﬁwm%:
uv wjis:
1) V6 ™ Ve
2 Ji0o + V6 2y V1o + V6
3 59 G) 59
4 Jeo 4 Ve
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et

- -

13.

14.

15.

Statement 1 : The line 2x+y+6=01s
perpendicular to the line x — 2y +5=0 and
second line passes through (1, 3)-
Statement 2 : Product of the slopes of any
two parallel lines is equal to — 1.

L Gtatement - 1 is true ; Statement - 2
is true; Statement - 2 is @ correct
explanation for Statement - 1.

(2) Statement - 1 is true ; Statement - 2
s true; Statement - 2 is not a correct
explanation for Statement - 1.

3) Statement - 1 is true; Statement - 2
is false.

(4) Statement - 1 is false ; Statement - 2

is true.

3
2 cot™1(7)+cos™ 1 (g ), in principal value,

is equal to :
(44
(1) cos 125
44
(2) cos“1(-1— )

e
= 9

3) tan~! [ﬁ]

117
1 ==
(4) cosec ( 125)

Let f and g be functions defined by

1
=777

g(x) ~x2+1, xeR. Then gof is :

(1) one - one but not onto.

xeR, xz—1, and

(2) onto but not one - one.
(3) both one - one and onto.

(4) neither one - ON€ nor onto.

13.

14.

15.

wmeA 1 2x+y+6=0’<@x-2y+5=0

wm%amgﬁ%@a,mﬁamm

7

mmz;awm‘f@aﬁaﬁmﬁmww

1%

1) am—lw%;mm-zw%‘,
o - 2, o - 1 ) W A

2) mmﬂw%;amﬂzw%;
$m42,aﬁm~1ﬁaéwﬂﬁ
%1

(3) o - 1 T 3, FA - 2 FEA T

(4) $W—1W%,EFW—2W%I

3
2 cot'1(7)+cos“1(g) FH1 T&H AF U
T

44
(1) cos™! (E)

LY

41
(3) tan”! (W)

117
1| ==
(4) cosec ( 125]

1
o fadl g, )= T 17 xeR, x#—1 T

g(x)=22+1, xeR & qferfi wed €

gof :

(1) M%Wmﬂﬁ%u
@) STTEE T TR T g
(3) qaﬁﬁammaﬁ%l

(4) qﬁq&ﬁ%aﬂ?#am%n
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16.  The coefficient of 124 in
(1+12)12 (1 +¢12) (1+t%4) js .

(1) '2c.+13

2) ¢ +2
@) M +1
(4) 12C6

17.  The general solution of the differential | 17,

equation

dx

(1) log (tang) + 2sinx =

Ez-#-sm (x;y)=sin (x;y

]is:

16. (1+8)12 (1441 1+t & TUR F 124 =5

o §

1 I2¢, +13
2 2¢, +2
3 ¢ +1
(4)

12C6

SgHA HHHT

ﬂ+sin (x+y]=sin (x;y) £

dx
) +2sinx =

U g & -

(1) log |tan

N &

log (taniy—) + 251n~ = (2) log tan%) + ZSm— =
log (cot—g«J + 2sinx = (3) log cotg—) + 2sinx =
log (cot%} + Zsm— (4) log cot%} + 251n~ =
18. If the quadratic equation 18. 3 fgema witemy
3x2+2(a2+1)x+(a2~3a+2)=0 3x2+2(a?+1)x+(a2—3a+2)=0
possesses roots of opposite signs, then a * qda forgdia i & %, T a fom e ﬁ'%,
lies in the interva] : TR
1) (-=,-1) M) (=o,~1)
@ (-1 @ (-1,
@ @2 3 @2
4 (23 4) (2 3)
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19.

20.

21.

If f (x)=x | x |, then for any real numbers

a and b with a<b, the value of

b
I f(x)dx equals :

@ =(bP-1lalP)

W=

@ 3o -2

(a® +b°)

Wi

&)

(4) (a3 —b3)

Q| =

If m is the slope of a tangent to the curve
e¥=1+x2, at the point (¥, y) on the curve,
then all possible values of m lie in the

interval :
M [ 1
@ @ )
(3) (—o —1)
@) [-11

A common tangent to x2—2y?=18 and
x2+y2=9 is :

(1) y=2x+3J5
(2) y=+2x+33
(B) y=2x+3.7

@) y=V2x+35

19.

20.

21.

e £ () =x | x | 8, A Safores et a d°b

b
¥ forg, e a<b R, [ f(x)dx TTRE :

1 z(vP-1laf)

W=

1
@ 3Ib’-a’]

(a3 +b3)

[ES R

@)

(2=

Wl

(4)

g THeV=1+x2, & AT (x, y) R @&
Wy W H @A m ¥, @ mF aft Gya am
g s o feag € g ©

1) [0 1]

2 A

3 (== -1
@ [-1,1]

x2-2y2=18 A 2 +y2 =9 & Th IS
TR

(1) y=2x+3.5
) y=v2x+3.3
(3) y=2x+3.7

(@) y=V2x+35
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22.

23.

24.

From a window x meter high above the
ground, in a street, the angles of elevation
and depression of the top and the foot of
another house exactly opposite to the
window in the same street are a and B
respectively. Then the height (in meters)
of the house on the opposite side is :

(1) x(1+tana cotP)

(2)  x(1+tana cosB)

(3) x(1+cota tan)

(4) x(1+cota cosp)

Let f be a differentiable function such that

8f(x)+6f(%)—x=5, (x#0) and

d
y=2x2 f(x), then = atx=—-11s:

dx

15

O
15
@ ~
1
G 1}
1

@ 1

A tree, in each year, grows 5 cm less than
it grew in the previous year. If it grew
half a metre in the first year, then the
height of the tree (in metres), when it ceases

to grow, is :
(1) 3.00
(2) 2.75
(3) 2.50
4) 2.00

22.

23.

24

Qﬂiﬂﬁﬁ, gﬁﬁxnﬁ.ﬁﬁrﬁmﬁww
fag®! ¥ 39 el F I H1 3R feug wew
F R 9 U & T qY1 eTHT KT
FHEM: o TA BT | O WHA G qGT I TS
(Frei #) & :

(1)  x(1+tana cotp)
(2)  x(1+tana cosp)
(3) x(1+cota tanp)
(4)  x(1+cota cosp)

AT f UH T AFFANT ®ad €, %

8f(x)+6f(%]-—x=5, (x20) § T

y=x2f(x)%,?ﬁx=—l’ﬂ%aqm:{%:
15
W 13
15
@ 1
1
G —
1
@ 17

& Ug yfved, fyse o %Y sian 5 4. w9
g ) afe 98 Teet o8 § 1/2 H. agd §,
IS 9% TGN 9¢ L < d UT H SR (Hiel
)¢

(1) 3.00
@) 2.75
(3) 250
4) 2.00
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25. Statement 1: If three positive numbers in | 25. &HIT1: Ifg TUIHE FE HI A TS
G.P. represent the sides of a triangle, then gt wE Ay &1 e &1 frefuw
the common ratio of the G.P. must lie F@ T, @ TR A F1 WH FIUA

- +1 5-1 5+1
between 5 -1 and 5 . 5 ‘d%ﬂf ¥ =g feua B
2 2 2 2

Statement 2 : Three positive numbers can FAT2 . ARSI oS gemed | R

form sides of a triangle if sum of any two A 1 A dEG @ T R, @ I Tl &

numbers is greater than the third number. 33 F1 oonet S Frefad #X a9 ¢

(1) Statement - 1 is true ; Statement - 2 (1) &7 - 19 ¢ ; FU 2 qF 8,
is true; Statement - 2 is a correct HYT -2, %Y - 1 %] Qe Al Bl
explanation for Statement - 1.

(2) Statement - 1 is true ; Statement - 2 (2) YT -183 LEFH - 2T R ;
is true; Statement - 2 is not a correct HYF - 2, FYT 1 I TG A TG 1
explanation for Statement - 1.

(3) Statement - 1 is true ; Statement - 2 (3) U - 199 ¢, U - 2 A9 B
is false.

(4) Statement - 1 is false ; Statement - 2 4) =¥ -1383 2, FU - 2T R
is true.

. I 7 xcosx2dx Im x cosx?dx
26. Theintegral NS cos(In35 — x2)+ cosx? 26. HHIEHE s cos(In35 — xz) + cosx>
is equal to : T
1 5 1 5
—In = ZIn2
®H "7 v 7
1 5 1 5
“In> Zin=
2y ;17 @ 7
1 7 1 7
ZIn — —1ln -
® 775 ®) 2753
1. 7 1, 7
ZIni —In—

@ 575 4 313
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27. The least positive integral value of x which
satisfies the inequality 19C__, > 2x10C_

28.

29,

30.

is:
(1)
(2)
@3)
()

RN O e

The angle between the lines 2v=3y= —z
and —6x=y=4zis :

(1) 30°

(2) 45°

(3) 9o°

4 o

If a variable line, passing through the point
of intersection of the lines x+2y—1=0
and 2x—y~1=0, meets the coordinate
axes in A and B, then the locus of the
mid-point of AB is :

(1) x+3y=0

(2) x+3y=10

(3) x+3y=10 xy

(4) x+3y+10xy=0

Let y?=16x be a given parabola and L be
an extremity of its latus rectum in the first
quadrant. If a chord is drawn through L
with slope —1, then the length of this
chord is :

1 32
@ 16v2
3) 1643
(4) 3242

27.

28.

29.

30.

x ®1 9% AN YIAF YUIiRIE HE, [
sfa 10C, > 2x 10C_ ) e w3 2,
e
@)
(2)
G)
4)

(= BN e BN« SN ¢ 1

s 2x=3y= -z —6x=y=4: & W9
WW% :

(1) 30°

(2) 45°

3) 90°

4) 0°

afg TH = Y@, @Rl x+2y—1=0 q4
2 —y-1=0% Yfq=ag fag @ & = ot
aun fewia el | A 991 B W Fedt ¥ A
AB % 7ea-fig %1 fague @ -

(1) x+3y=0

(2) x+3y=10

(3) x+3y=10xy
4) x+3y+10xy=0

AMT 2 =16x T &A1 T Waera & qr L
39 fela &1 99 9quty § © 9K
afE LW Bt T At u s 3, foea e
~1%, 9 3 Wi &) o ¥

1) 32
2 16v2
B) 163
(4) 322

L/Page 12
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Part I1 / W 11
Aptitude Test / afireta aiteror

Directions : (For Q. 31 and 32).  The problem figure shows the top view of an object. Identify the

i correct front view, from amongst the answer figures.
| Brdr - (7 31 3it32 & faw)i wv gty 3 et 9w 1 S0 ¥ @ 7 &1 W St
3 39T Yg 9@ §v9 Ve Aq |
. Problem Figure | ¥ 3WFHId Answer Figures | 3% gl
s fen, dlen don, ek
1. O g O C J L 1 i i
@ 2 ®) 4)

=i
5% | g &Hlﬂhél i I
@

m I 3
1

&) )

Directions : (For Q. 33 and 34). The 3 - D problem figure shows an object. Identify, its correct i-p
view, from amongst the answer figures.

Frdor : (W33 3ift34 & RIT)1 3 - D w97 Ul 4 o a¥g &)o@ T &1 59 el T 5

I rtadl 4 | e
Problem Figure /| ¥ 3t Answer Figures [ 3T 371?»'@??
/ | [
3.

L\ L\ LF\ N
- L] ] L] L
_‘ 1) ) ) 4)

.

, 34, O
! ” H ¢ O O
; n
: @) ) @) @)
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Directions : (For Q. 35 to 39).  Find out the total number of surfaces of the object given below, in the
problem figure.

R : (935 @39 F forg)1 w7 srfy 4 Freaifnd og % el F1 FeT G&T 71T FHAT)
Problem Figure / T 3l

35. % 1) 19 (2) 18 (B) 20 4) 22
36. @ (1) 16 (2) 15 (3) 17 (4) 18
37. @ 1) 14 2) 15 (3) 13 4) 12
38. @ 1) 15 2) 14 @) 12 @) 13
39. & 1) 20 @ 18 @) 16 @ 17
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Directions : (For Q. 40 to 42).  Find the odd figure out in the problem figures given below :
Ader: (W40 @02 & Rw) A9 3 T w7 onghed A G fawe smgpla FaT )

40.

41.

42.

1
[+
(1

hv

)
1)

X K o

@ ) @
a . il ) =)
® ®) @

@ @) @

Directions : (For Q. 43 and 44).  One of the answer figures given below is hidden in the problem figure,

in the same size and direction. Select, which one is correct.

T - (. 43 sifraa & forg) 1 919 3 7 I omfadl & § T sy A SR feon § @ w9 4

797 ot 4 fodt &1 Fivet @el 8 g

Problem Figure / %7 STFld Answer Figures / 3T srptaar

43.

.

o N ¢

3) @

(1) (2) ©) )

L/Page 15
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Directions : (For Q. 45 to 48). Which one of the answer figures is the correct mirror image of the
problem figure with respect to X - X ?

Feor: (R 45 Q48 F R1T) 1 I smpfadl 4 @ Fh7at oty 3 7 ¥ew sTHT FX - X W qd

g9 gfafoa &2
Problem Figure / F%7 3T Answer Figures | 3T 3TFfadl
X
45.
X ) (2) (3) (4)
X
6.
X M ) @) (4)
X
r
. ~
X (1) ) (3) @
/48.

L/Page 16 SPACE FOR ROUGH WORK / T% & & fou smg



Directions : (For Q. 49 to 52).  Which one of the answer figures, will complete the sequence of the
three problem figures ?

frdor: (7 49 @52 & fer@)1 I Pl 7 8, #ﬁwﬁﬁﬁvwmﬁwﬁﬁ
377 H (sequence) 7 & S ?

Problem Figures | %7 gt Answer Figures / I srFtaar
|e|ol lol« l [v|e v|e ENE o|e —Cf?.
M ©|a . ©J o|e ? o|e e|lo| |»|O v OJ
1) (2) (3) (4)
P ‘—. S o:. . ( KD .:o . ... ‘ '.n .. ®o0 _:_1
@/ . o:o ':.o.o .o. ., ? } % . ..o°o°| ° ': ‘o * .
(1) @) 3) (4)
e AL 12 =h
: = | d
ey (2) ©) 4)

j{/ ' A—L o) o) ? 0 o
- 0 | 4}_| f O O
: @ (2) 3) 4)
L/Page 17 SPACE FOR ROUGH WORK / 7% T4 & foTq s




Directions : (For Q. 53 to 55). Which one of the answer figures shows the correct view of the 3 - D
problem figure, after the figure is opened up ?

FEsr: (w53 @55 F )1 3-p ¥ ST B Gl T, IR HIA 7 8, w8t gvq Fva 7
Problem Figure / . Answer Figures / 30 STFHIaar

77 ST

I
[ 1T7TT11
11
[T 111

1 &) (3) )

==
[T

<]

o~

—
T
—
n

W
-
—~—

o
N

xF el e dllF es

(

E 1]
S I
[T

® [(T1]

)
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Directions : (For Q. 56).  How many total number of rectangles are there in the problem figure given
below ?

Fidor: (256 & Frg)1 919 3 7F 9w sl sl wt g qe fwa &2

Problem Figure / ST 3l

1 17 @ 18 @) 19 4) 20

Directions : (For Q. 57 and 58). How many total number of triangles are there, in the problem figures
given below ?

ﬁéyr:(;zw 358 & frw )1 TR < 7 v swgladl B s 1 ger gew fhad €7

Problem Figure | ¥¥9 3ld

577

1 20 @) 18 @) 17 4) 19

58.

1) 16 2) 17 (3) 18 @) 20
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Directions : (For Q. 59 to 65). The 3-D problem figure shows an object. Identify, the correct view,
from amongst the answer figures, looking in the direction of the arrow.

& : (w59 @65 & frg)1 3D ¥ SFT A T g F e &1 dj # fewm 7 2 gy

$9% HEl 59 F) ST NFlAE T @ vgwitm)
Problem Figure /| 97 377557% Answer Figures | IW 3-7@7%?7?
59, [] [] ] L]
» o A o e I ]
AN
@ (2) @) (4)

™ 1) 2) 3) @
N N
B [] ] ] ]
l l I
al 1) (2) 3) @)
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Problem Figure / 337 TFId Answer Figures /| SW® 377?)‘/%?7?

s i:l:] ﬂw‘rﬂ ﬂhlj JjY:L__l

7 (1) @) (3) @)
— /4 ald =1 =
.6?; - ./
AN 1) @ () @)
_ 4. E l% L D L
-
S (1) ) 3) 4)
1 H 1 B
I |
A (1) @) 3) @
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66. Which one of the following is an| 66. frfafes § 4 s\ = AFR & ?
Architect ?
(1)  Amrita Sher-Gill (1) aar -
(2) M.F. Hussain (2) TUE g
(3)  Christopher Benninger (3) fruewR affasr
(4) Salman Rushdie (4) HEHH TR
67. Qutab Minar is largely cladded with : 67. FII R W fFa8 stfurhay od wgr W §?
(1) Granite 1) IR
(2) Red sand stone (2) T 9GS TR |
(3) Marble (3) HTTR A
(4) Brick (4) 8/
68.  Which one is not a sound absorbing | 68. Fia1 vl &&fT sraviys T8t 7
material ?
(1)  Jute bags (1) TeHd 91
(2) Thermocol (2) uHfEmE
(3) Glass wool (3) HF F &
(4) Ground glass 4) frm=smE
69. Point out the incorrect combination : 69. 3YE G I Fa
(1) Pagoda and Burma (1) irer o suf
(2) Vat and Combodia (2) e ok FwEifen :
(3) Eiffel Tower and Congo (3) RS =R AR Fi
(4) Agora and Greece (4) i iR Iy
70.  Natural shadowless light is available from | 70. @ ¥, famm s 01 Wrhfdes YT fag fagm
which direction in India ? 3 g ¢ 7
(1) South (1) <o
(2) North-West (2) I-ufmm |
(3) East (3 TR
(4) North (4) SWH
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71.

72.

73.

74.

75.

In which place in India can we find cave
temples of three faiths ?

(1) Madurai
(2) Delhi
(3) Ellora
(4) Agra

Which one of the following is a horizontal
member in a building that carries load ?

(1) Arch
(2) Column

(3) Vault

(4) Beam

Horizontal sun shades are required to
protect windows on which facades of a
building ?

(1) South

(2) East

(3) West

(4) North

The summer sun in Northern Hemisphere
rises from :

(1) North

(2) South East
(3) North East
(4) East

Which one of the following consumes least
amount of electricity ?

(1) Tungsten Bulb

(2) Compact Fluorescent Lamp (CFL)
(3) Fluorescent Tube

(4) Light Emitting Diodes (LED)

¥4

75.

wra B feg S W d el o T A
foera 2

(1) wgEH

2y feeent d

e o

4y U H

frfefEd § § T AR & 0F Afad

GRS 9T S0 fF YR o8 82
(1) WewE (3T)

(2) W ()

(3) TEUEl Bd (TR)

(4) =t

e o, W ¥ 5T SR % S0 M R
farefadl #1 g 1 frol 4 aue §2

2fam

T
qiyegH

JX

(1)
(2)
®)
(4)

R, S e, g we @ P 2

IR/
Tfeqo 98 4§
SWE ¥
behi

frefafas § @ @, faoct & @@ ®
HoQ FH H@ 7

(1) A des
(2) Wed (Compact) Wi & (CFL)
(3) wfaea Afeer

(4) TEW IESF SATE (LED)

1)
(2)
©)
(4)
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76.

77.

78.

79.

80.

Palace of winds (Hawa Mahal) is located
in:

(1) Madhya Pradesh

(2) Rajasthan

(3) Jammu and Kashmir

(4) Andhra Pradesh

Which one of the following cities in India
lie in Cold and Dry region ?

(1) Simla

(2) Darjeeling

(3) Leh

(4) Gangtok

Which type of roof will keep the room_

cooler ?

(1) Concrete slab with cement plaster

(2) Concrete slab with mud and brick
tiles '

(3) Concrete slab with mud, brick tiles
and covered with potted plants

(4)  Asbestos sheet roofing

Which city is based on sector planning ?
(1) Patna

(2) Chandigarh

(3) Kolkata

(4) Pune

Name the city where canals are used as
transportation channels :

(1) Canberra

(2) Manhattan

(3) Venice

(4) Tokyo

-00o0-

76¢ T Ew e feera 12

- 77.

78.

79.

- 80.

(1) wA¥ew Y

(2) TREHEH

(3) I R FEER A
(4) oty wew A

v %, Freafafes el § 9, s 32 ok
IS ST H U §

(1) fmen

2) wfifem

(3) w%

@) W

fog @& #1 57 FW = S @it ?

(1) Hic ® Ta, G ORI F Ty

(2) T BT B, M AR & F A @
TH T

(3) Fhi & BA, M, I w e ik
T % W ¥ gHh g8

(4) TERE AR & Bq

HITHT TR ' et @t T g 2
(1) W=

() <

(3) HIcTHT

@ ™

W YR 1 AW Fqd, el TE, I & €9
H v | ot #2

(1) FHFe

(2) W

(3) af=

@) Afwd

-00o0-

L/Page 24

SPACE FOR ROUGH WORK / T% &M & fau e



Space For Rough Work / T &t & feg e

L/Page 25



Space For Rough Work / %% &rd & fau g
cos268= 4+ + Cosig

YA
) I-%COSZﬁ'_Q cos O

Cos26~ 2 COSLQ._ '/

2 Co%: (7 4 COS Y?7

.m1 { s o
2 s @l)g . o
/995% 9% 12T
- L ,
Q&?’)’\?(: 2 X I~ x __,,,AL—
K o~ A
— A
L
N\
a9 5 = ™ + ol
> - 414 J g
{ o
2 7 st -
i N ',\.4'2’ o,
Jso Vs -a - 1
|Ti of - M ot VAR
=0 P = \/rSjO
v ' 'h'/l{ N i
Sim x 4 L sim [ .
Y U
Jso —
— \

s | 2 m4 M- 186

\.r?o \/ A S— Zgl ) ’
. ~ ¢

sl e e wra < s
Z:x 4+ SH Z_b 5 b o
Q7+Xl+l) ax a+axb oxc+ Cxd
/Qa o px0+bx b dxC +dxd

2d

2 /
° - atrob c+cd
[b Liab  dcd
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co s +AS N
w’.ﬂf/n ——
3¢
@ o M
S\’Y{K(Q‘(OSX*Q)
3
¥

2 CosS x +t Q

x‘k_

’ !
‘\mﬂ‘_.,gfsmx
O\

- 2/ ‘)L
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Read the following instructions carefully :

frefafaa ey s @ 98 -

1. Part] has 30 objective type questions of Mathematics
consisting of FOUR (4) marks each for each correct
response. Part II (Aptitude Test) has 50 objective type
questions consisting of FOUR (4) marks for each
correct response. Part III consists of 2 questions
carrying 70 marks which are to be attempted on a
separate Drawing Sheet which is also placed inside
this Test Booklet. Marks allotted to each question are
written against each question. For each incorrect
response in Part I and Part II, one-fourth (*4) of the
total marks allotted to the question would be deducted
from the total score. No deduction from the total score,
however, will be made if no response is indicated for an
item in the Answer Sheet.

2. Handle the Test Booklet, Answer Sheet and Drawing
Sheet with care, as under no circumstances (except for
discrepancy in Test Booklet Code and Answer Sheet
Code), another set will be provided.

3. The candidates are not allowed to do any rough work
or writing work on the Answer Sheet. All calculations/
writing work are to be done on the space provided for
this purpose in the Test Booklet itself, marked “Space
for Rough Work’. This space is given at the bottom of
each page and in 3 pages (pages 25 - 27)at the end of the
booklet.

4. Each candidate must show on demand his/her Admit
Card to the Invigilator.

5. No candidate, without special permission of the
Superintendent or Invigilator, should leave his/her
seat.

6. On completion of the test, the candidates should not
leave the examination hall without handing over their
Answer Sheet of Mathematics and Aptitude Test-Part I
& I and Drawing Sheet of Aptitude Test-Part III to the
Invigilator on duty and sign the Attendance Sheet at
the time of handing over the same. Cases where a
candidate has not signed the Attendance Sheet the
second time will be deemed not have handed over
these documents and dealt with as an unfair means
case. The candidates are also required to put their left
hand THUMB impression in the space provided in the
Attendance Sheet. However, the candidates are
allowed to take away with them the Test Booklet of
Mathematics and Aptitude Test - Part I & I1.

7. Use of Electronic/Manual Calculator or drawing
instruments (such as scale, compass etc.) is not allowed.

¢. The candidates are governed by all Rules and
Regulations of the JAB/Board with regard to their
conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and Regulations
of the JAB/Board.

9. No part of the Test Booklet, Answer Sheet and Drawing

Sheet shall be detached/folded or defaced under any

circumstances.

10. The candidates will write the Test Booklet Number as
given in the Test Booklet, Answer Sheet and Drawing
Sheet in the Attendance Sheet also.

11. Candidates are not allowed to carry any textual
material, printed or written, bits of papers, pager,
mobile phone, electronic device or any other material
except the Admit Card inside the examination
hall/room.

1

10.

11

g % T 1 8 R ¥ 30 a%gfTE oA € e vl
T ¥ T S % fou wr @) i favifa o w €
it 11 ( sferefe wlem) ¥ 50 sgfs e € f99H vas
e e fow ww (4) o § | gfes & wrr i ¥ 2y
¥ foras ot 70 o fruffia €1 27 wxa oot odten Therm
F <L T TEN W W ¥ | T@E v vy Fwifa
3w g ¥ grg@ sifwa ¥1 w1 v 1 H v
T IAT o foru 5@ v & fau fuffa o ofwl 7 1
g-sters (Va) i $o 3 & @ #e fag smdd | afg
IR 0 A et g # R Swe e fen T R, @ 39
4 d Q FE ofF 7@ He W4 |

e Yfeqe, SR U TE g Wie H EEYEE g1
i, Fifw fodt off uftfeafa F (Fea e ghae @
TR T F wre F i 3 feafa ) Srew) gad wiean
Tfeent Suersy & FHOE S |

Henfeal i IR UF W FS ft W FwE A o 1 Fm
FO T Sta T &1 et o OE ferar o, Tl
et § fruifed we S foe o @ & forg S’ g
iferd B, T8 g SR T8 R WS I8 WA H
3R e ikt % 3Fa W 3 (g8 25 - 27) WA TR
T8 WM W yAF qieel fried | oo yaw w8
feamd |

spefters 41 Frders it faew srqwfa & fam = adaneft
YA T A BIE | ‘

wien @am g7 w), gdandf sl w1 e
Tforq - w1 1 W rfrefe 9hem - 9 11 SR 99 @
sfvrela Thero-om I ) R0 ¥ 3 3R sufeufq w
T HYA TEER SR T F YTETq & I g S
¥T H FE W GE A A o IR IR 0 S ¥ T
direre Tu ¥ o8 aafaa wue w4t § HE1 S
Titemell 31 ST F1er o S T Frere sufefa o d
fau T T T 3ravd Wg | genfy, whaned s
Tfora e srfefa wher - s 1TE [ aden gRaE
AMEHIF|

TR/ Efer Uihas a1 SR ST (4 R
Thel, HU TeaTfe) w1 FEr afdd 71

e e # AR % fag wend Sea. /a9 F
wa fafrael g Frafia 80 srfaa e wam & a9t
e %1 Fae 9. e, /918 % frawl we fafadi & sgEr
i

ot oft Teerfa o gdtan Yfiqen, IR 93 €@ QRN T
F8 ot w7 3 fHa sem ek 7 & Hrer IR
Jran fqme SR

e T, IO U7 TS g1 wie § < 8 wden e
we w wend g8 olF @ w3 § off ford
gitemef gRT wdten e/ %y W waw &rE & faaw
ferit wente @t urgm W, Wt an geateliEe, s
1 ufelal, U, WEEA WA, JHagiie SUhT a0
et 3T FeRTU Rt QI ol & T 91 0T & i
e T ¥
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